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@®25C248656 HB3L | Veeo(V) 20| hrg 20.00 200. 00| Vce=10V, lc=2mA #Vec=12V .
P : VHF SR8, VEF TV Fa— | VEso(V) 3| fr(MHz) | 400.00| 550.00 Vee=10Y, le=2mA
SRR, 1P HENER Te(md) 20| Cre(pF) 0.23|  0.45| Vcs=12V, [g=0, f=1Miz 5 .
P {n¥) 200] PG(dB) 18.00 23.00{ 27.00| Vaac=1. TV, =200MHz, ¥ %
15 {0 _ 150{ NF(dB) 2.40|  3.20| fc=2mA, f=200MHz .
Vage (V) 4.30 5.60| GR=30dB, =200MHz, %
925C2466 B3z | Vego(V) 20| hr 30. 00 200. 00| Vce=10V, Ie=5mA #ee=11V 5
FAi% : UHF F/E)ifeiedd, UHF TV F2— | VEso(V) 3| f1(GHz) 1.50] 2.20 Vee=10V, Tc=5mA ##Vee=12V, le=2mA
FIREM (CATV 3 v3—% 1st/ | le(mA) 50| Cob(pF) 0.70|  1.00| Vcp=10V, [g=0, f=1MHz fout=45MHz . ¢
2nd 0SC F) P (m¥) 200| PG(dB) 14.00] 18.00 Te=5mA, £=900MHz, * - -
e | 150] ca(aB) 13.00 £i=930/£0=975MHz, *+ .
®25C2467 B3 | Vego(V) 20| hre 30. 00 Vee=10Y, [c=10mA #ce=12V, le=2mA, .
F& : VIF SRS, VHF TV F2— | Vepo(V) 3| £r(MHz) | 600.00} 900.00 Vee=10V, lc=10mA fout=60MHz
FR&H Tc(mA) 50| Cre(pF) 0.27)  0.45] Vcp=10Y, [g=0, f=1Miz 5 % ¢
Pe (nk) 200| CG(dB) 16.00{ 23.00 £1=200/To=260MHz, *
Ti(’C) 150} NF(dB) T 3.60)  5.50| £i=200/fo=260MHz, ¥ .
®2SC2468 B3I | Veeo(V) 20| hre 40. 00 Vee=10V, lc=10mA N
B« VIF SR8, VIF TV #a2— | Vego(V) 3| fr(Miz) | 900.00 Voe=10V, Ic=10mA n
FR&, FIRFA (UIF TV % | lcms) 50| Cob(pF) 1.50| Vcg=10V, 1£=0, f=1MHz . % ;
A, CATV 2 v/x—% 1st/ind | Pc(mW) 200
0SC Ti(°C) 150 c
@®25C24689 B3I | Vero(V) 20| hre 40. 00 Vee=10V, Te=10mA N
A& : VHF ESElgieE, VEF TV Fa— | Veso(V) 3| fr(MHz) | 600.00 V=10V, [c=10mA ’
FREFIRH Tc(mA) 50] Cob(pF) 1.50| Vem=10, [g=0, f=1MHz 5 % .
Pe (i) 200
Ti (°C) 150 o U




